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frm A mh e # 7
(3@ (B @R
W) (M2 (D) (1), (2) 3t (4
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mﬁﬂﬁqﬁmﬁ;mmfg 3
(A) sl (n) snag

(C) J=Ta (D) Hitrimm

14C

|



h

Directlons : Read the following passage
carefully and sanswer the questions glven
below : (1310 17)

Philosophy of Education is a label applied to
the study of the pumose, process, nature and
ideals of education. It can be considered a
branch of both philosophy and education.
Education can be defined as the teaching and
leaming of specific skills, and the imparung of
knowledge, judgment snd wisdom, and is
something broader than the societal institution
of education we often speak of

Many educationalists consider it o weak and
woolly field, too far removed from the practical
applications of the real world to be useful, But
philosophers dating back 1o Plato and the
Ancient Greeks have given the arca much
thought and emphasis, and there is little doubt
that their work has helped shape the practice of
education over the millennia

Plato is the earliest important educational
thinker, and education is an essential element
in “The Republic™ (his most important work on
philosophy and political theory, written around
360 B.C.). In i, he advocates some rather
extreme methods : removing children from
their mothers® care and maising them as wards
of the state, and differentiating children
suitable to the wvarious casies, the highest
receiving the most education, so that they could
act as guardians of the city and care for the less
gble. He believed that education should be
holistic, including facts, skills, physical
discipline, music and art. Plato believed that
talent and intclligence is not dismbuted
genetically and thus is not found in children
born to all classes, olthough his proposed
system of selective public education for an

Comprehension
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cducated minority of the population does nol
really follow a democratic model.

Aristotle considered human nature, hahit and
reason 10 be equally important forces to be
cultivated in education, the ultimate aim of
which should be 1o produce good and virtuous
citizens, He proposed that teachers lead their
students systematically, and that repetition be
used as n key tool to develop good habits,
unlike Socratea’ emphasis on questioning his
listeners to bring out their own ideas. He
emphasized the balancing of the theoretical and
practical aspects of subjects taught, amomg
which he explicitly mentions reading, writing,
mathematics, music, physical education,
literature, history, and a wide range of sciences,
as well as play, which he also considered
important,

During the Medieval period, the idea of
Perennialism was first formulated by 51
Thomas Aquinas in his work “De Magisro”.
Perenninlism holds thar ene should teach those
things deemed 10 be of everlasting importance
o all people everywhere, namely principles
and reasoning, not just facts (which are apt 1o
change over ime), and that one should teach
first about people, not machines or techniques.
It was origmally religious in nature, and it was
|only much later that a theory of secular
| perennialism developed.

|['1uring the Renaissance, the French skeplic
Michel de Montaigne (1533 - 1592) was one
ol the first to critically look at education.
Unusually for his time, Montaigne was willing
10 guestion the conventional wisdom of the
Iperind, calling inte question the whole edifice
of the educational system, and the implicit
I assumption that umiversity-educated
]philﬂmph:n were necessarily wiser than
uneducated farm workers, for example.




What is the difference  between the
approaches of Socrates and Aristotle ?

(A) Aristotle felt the need for repetition
to develop good habits in students:
Socrates felt that students need 1o be
constantly questioned,

(B) AristF-{Ig- felt the need for rote-
Ic_nmlng; Socrates emphasized on
dialogic leaming.

(C) There was no difTerence.

(D)) Anstotle emphasized on the
importance of paying attention to
human nature; Socrates emphasized
upon science,

WP}- do  educationists  consider
philosophy a *weak and woolly” field 7
(A) Itis not practically applicable.

(B) Its theoretical concepts are easily
understood.

(C) Itis irrelevant for education.
(D) None of these

What do you understand by the term
‘Perennialism®, in the context of the

given comprehension passage 7

(A) It refers to something which is of
permanent importance.,

(B) It refers to something which is quite
unnecessary.

(C) It refers to something which is
abstract and theoretical,

(D) It refers to something which existed
in the past and no longer exists now.

Were Plato's beliefs about education
democratic 7

(A) No, not at all.

(B) Yes, it was democratic completely.
(C) Yes, it was democratic partially.

(D) None of these

Why did Agquinas proposc a mode|
edufminn which did not lay my
emphasis on facts 7

(A) Facts arc not important.
(B) Facts do not lead to holistic educatic

(C) Facls can change with the changi,

times. o
(D) Facts are frozen in ime.

Which part of the sentence has an error 7
He was not considered for promotic
because his performance was not as goc
as the other members of

organizations.

(A) He was
promotion

(B) because his performance was not

(C) as good as the other members of th
organizations.

(D) No error

Which part of the sentence has an error’
Of the three wild beasts in the cage, thi
one seems the most ferocious.

(A) Ofthe three wild beasts in the cage,

not considered K

(B) this one seems

(C) the most ferocious. %
(D) No error '
Give Synonym of :

Vituperate

(A) Abuse (B) Appreciate
(C) Copy (D) Encourage
Give Antonym of :

Reprobate

(A) Elevated (B) Virtuous
(C) Clumsy (D) Lavish

Give meaning of Idiom
At loggerheads

(A) in difficulty

(B) to be at strife

(C) None of these

(D) very happy together
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" does not help in guarding your
computer against malicious soflware.
{A) Windows Firewall

(B) Windows Defender

(C) Browser

I‘_'D} Anti-virus software

* 3ok weE ) At wiwd
tﬁuwﬁmqﬂm#t
(A) forgra wraata
(B) fagm e ﬁ
XC) ¥ =
(D) vA-arw wheedm
Where is RAM located 7
(A) Mother Board (B) Expansion Doard
(C) External Drive (D) None of these
RAM Fl o fem gl 2 7
*(A) WETEE (B) wEwiTT g -
(C) WEeEAgEE (D) ¥ A % 1

is directly used to store user's

—
) Folder (B) File

(A) Folder

(C) Recyelebin (D) None of these
T F T I WO R w0

& forg weom FU A WGF R R |

F(A) BIFEL (B) FES

(C) fomsfrer iR (D) T8 R =i =

What is maxinfum zoom percentage in
MS-Word 7

weE-a¢ § e qu wfem feen
EaiR 7
(A) 200
(C) 500

(B) 400
(D} None of these/

v A wrf T

Which of the following is/are example(s)
of Word Processors ?

(A) Microsofi Word
(B) WordPerfect I
(C) Both Microsoft Word and WordPerfect

(D) None of these
fr i B = w1 /A WA

L7434 |
“(A) I
(B) & TR |
() mFRiR T v T e CHI |
(D) ¥ & w7

19.

0.

31

In Microsolt Excel 2007, a single file or
document |s called a ™
(A) Workbook

(C) Sheet

() Works hl.'ﬂ
([3) Notebook

TRIE 2007 W, U UHA FEA
LR AR o F 1 R
(A) TEYH -(B) whafrz
(C) ¥ (D) FrzaF

Which of the following system softwares
is loaded first into computer memory
when a computer is powered on 7
(A) Device Drivers
(B) Language translators
(C) System Utilities
(D) Operating system

fr= § 4 =1 w fawen afweET Ty
w AT A FrS O €, 99 T S
aw femamm k¢
(A) feamm grmad  (B) ¥R giEeic
(C) faren gfefifen (D), wiain e

Which of the following is not an example
of solid state storage device 7

(A) DVD ROM

(B) Memory Card

{C) USB Flash Drives

(D) None of these .

= § & #18 m 2| waen =i fany

U e TR 7
(A) 2. im
(B) HEHt =g .
*(C) q.UH. . FN gEE
WRsEEEEL]
Devices, such as monitors and printers,
that connected to the computers are called
(A) System Devices
(B) Input Devices
(C) Peripheral Devices
(D) None of these ]
feamgiw, 9 & witz man foe,
i AP et e
(A) forem frmita (D) W2 feamre
.(C) Witree faamgd (D) v A i =
O
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3.

4.

35.

Which of the following is not an input
device ?

(A) Optical scanner (B) Keyboard

(C) Mousepad (D) Touch pad
e i & R o AR a7
(A) d¥R%a & (B) et

(C) wram tz (D) == 8z

Which of the following is correct term for
the process of finding and correcting
€TTOTS in program 7

(A) Debugging (B) Translating

(C) Interpreting (D) Compiling

T W A 3o v e s g

TEaF et mf e Ao d st

*(A) feafim (B) grE=fen

(C) weuifin (D) w=sfem

A megabyte is actually equal to

kilobytes.

U UATE AT faettage

HETAE | :

(A) 1000 (B) 1024

(C) 1084 (D) None of these/
W 8§ &1 76

Which PowerPoint view displays each
slide of the presentation as a thumbnail
and is useful for rearranging slides 7

(A) Slide Design (B} Slide Sorter
(C) Slide Show (D) Slide Master

T BT -ETiz o e & vl e
w1 T uae & M e v o
TFER W R e i g 2
(A) =z feamm  (B) wIse v
(C) w¥E it (D) FATFE AR

Which of the following is a point-and-
draw device ?

(A) Scanner (B) Printer

(C) Mouse (D) Keyboard

= A8 %A W o ame-we-g faama k7
(A) BT (B) firm

*(C) wigd (D) #raé

|
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38.

39.

DT Is a compuler abbreviation

usually means—
(A) DeskTop Publishing

(B) DeskTop Programming

(C) Digital Type Pl'ﬂgl'ﬂ:l:]"l. |

(D) Document Top Publishing

DTP vs &gzt Haram &, §1 61HT=

i h-

(A) el afefam
(B) ¥ewely i
(€) Refieet Za s
(D) steqi=2 2 i

Which one of the following states has
largest arca under forest cover ?
(A) Arunachal Pradesh

(B) Assam
(C) Himachal Pradesh

(D) Madhya Pradesh
F= 1 8 =9 @ Tsa w1 g9am=mTe

waFa g 7
(A) FFUIEE WEN (B) G
(C) fm=wi (D) sy

Which of the following regions has be
classified as 'Western Dry Region® ame
the 15 Agro-Climatic zones of Indja ?
(A) North Bihar Dry Region

(B) Rajasthan Dry Region

(C) NEFA Region

(D} West Bengal Dooars

NI % 15 Tih-aegifes (F s
W1 5 B 4 8 form i ) ol 1
§T % w i T forar ma 4 0

(A) I Taen = ai

"(B) TR 1 iy

(C) A1 (NEFA) 13

(D) i W
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*(A) IO o

41,

41.

“(A) ==

41.
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The climate of Assam is

(A) tropical monsoon

(B) tropical dry

(C) hot desert type of climate
(D) tropical savannah

e 6 Feay ﬁ
(B) FwmRfanf =5

(C) = TFHH Wi ! AeTaTq
(D) Iwmfradta wam

Where is Bansagar Hyde! Project located 7
(A) Madhya Pradesh

(B) Uttarakhand

(C) Gujarat

(D) Rajasthan

wroranT AT i et o fRm o
(A) 7o1 w5 (B) STUEs

(C) A D) TIa&EH

Which mountain range scparates the Indo-
CGangetic plains from the Decean Plateau ?

(A) Vindhyas (B} Aravalli

(C) Purvanchal (1)) Karakoram
yreftg afta Az w1 gfEe =ra e
A TR TET I w14 R 2

(B) arraef

(C) wham (D) FAHTE

Shyok and Nubra valleys arc located in

which region of India ?
(A) Kangra region (B) Ladakh region |
{C) Chamhba region (D) None of these l

wrvee 3 i B v v e nfend fRa & 7|
(A) FITETEE  (B) TG &
(C) == 8 (D) T &= 7

44. Mauach List - | {Peaks) with List -

45.

(Mountain range) and select the corre:
answer using the codes given below tk
lists :

) - 1 &) ® 3 - 11 (v )

wy wifer w1 wd wfeat & 4 Ry
ﬂﬂ"ﬂﬂm‘ﬂﬁ
List-ageft-1  List- 11 Ageh - 1)
[Pnlu}.’f!’lﬂ} [Munnlllr_l Range
(e )
a. Gurushikhar/ 1. Karakoram/
TsfiTET 7 FRHRIH
b. Dhupgarh/ 2. Satpura/®dIsT
e
e. DodaBetta/ 3, NilgiriHfrafiit
mi
d. Saser Kangri/ 4. Vindhyaf&==
HIER FiH
’ 5. Aravalli/3Tad
Codes /Z:
a b ¢ d
(A) 4 2 3 1
B § 4 1 3
4 5 2 3
D) 5. 2 3 1

A Dynamo is a device for converting

(A) electrical energy into mechanica
energy

(B} mechanical emergy into electrica
ERergy

(C) mechanical energy into speed
(D) None of these

T o gfF } wiaffr st f
(A) foga =7 =1 wifis w=i &
*(B) Tifa® Fai & e wai §
(C) Tify= =i nfa i

(D) T AFE
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47.

49.

Which ofthe following are liquids at room
temperature and standard pressure ?

= 2 & ¥ D o= v e g e
ATIET 91 A (za) WA o
. Helium / 2. Dromine /
¥firam e
3. Mercury / Chlorine /
i e il WA

Select the correct answer using the code

given below :

A2 forw e 21 & smam o I -

(A) 2,3.4 *B) 2,3

(C) 1,2,3 (D) Al of these /
7 T

Gastritis affects which part of the human

*
{A) Feet (B) Skin
(C) Lungs (D) Stomach

Faomy (femfen) g ot & few wm
I AMAA SR 7
(A) &

(C) &g

How many spinal nerve pairs are there in
humans 7
e | fem 2 afe gy am E 7

{A) 31 (B) 12
{C) 10 (D) 37

4.

(8) ==
(D) I

What is ‘Mushroom® 7
(A) Fungus (B) Bacteria
(C) Plam (D) Animal

gy wETk 7
(B) ey

(A) §gF
(C) WY (D) woft

The enzyme in whose presence glucose
and fructose are converted into aleohol is
(A) Invertase {B) Zymase

(C) Maltase (D) None l:lf:'I]'IEEl:
e Farat aufeufs 8 s @ wee
vertee A oiaffaf e f, 8 -

(A) FEE (B) FTEHA
«(C) WIEeA (D) % A rd el

51.

DPT vaceine is administered to prevent

disense like
{:‘l Dengue, Polio and Telanus

(B) Diphtheria, Pertussia and Typhoid
(Cy Diphtheria, Pertussis and Tetanus
(D) Dengue, Pertussis and Typhoid

9 ) #, Fe ¥ dieat 7 warE F fomg
femam R -

(A) ¥, hfera ol ZEAw

() feefifn, wfen @ ZawE

«(C) Faeefife, w@fem vd 2w

(D) ], wifem v TR
Maich the following :
fanm =y mafem =t
g. Nysya=i@ |, Kanado/®93
b, Vaisheshika/ 2. Shankaracharya/

s TR
C. ‘t"ngﬂ.ﬂf'l"l 3. Gautama/Tie
d. Vedamta/ 4. Paanijali/
Select the correct answer using codes
given below :
fom o 521 & Fmuw vl I T |
Codes /52 :

u b c d

(A) 3 1 4 2
(B) 2 i 4 |
(c) 4 I 2 3
M 3 4 1 2

Which is the correct chronological order
aof the following rulers of slave dynasty
who ruled over Delhj ?

(A) REE"J, Masiruddin, Balban, [ltutmish
(B) Nasiruddin, Balban, Razia, lltutmish
(C) Ntutrmish, Razia, Nasiruddin, Ralban
(D) lhutmish, Balban, Nasiruddin, Razia

foeeh w3 @ o e A
TE W SRR Ay EE A d 7
(A) thovm, e, weme, yeqafm
(B) Sfesdia, werem, wfirn, yeqafim
* (C) egate, W, afasdn, werm
(D) ¥=gafe, weres, fesds,
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Consider the following statements :
Akbar  sought  the  friendship
cooperation of Rajputs

I, Tocrush Afghan revolt.

2. To strengthen the foundation of
Mughal Empire in India.

To build Ihadatkhana at Fatehpur Sikri

To deteat foreign tribes invading Indin.
= et T faamo wt

N Uy @ wEan v fam ) s

1. v fagm & e & g |

2. WA # g ' ) e w® wan
cack 3l

3. weq Ht W yargaETn & fmin
fe

4, WA W wwEw e T fadd
ecenaak R nce Aol

Which of the above statements are comect 7

TR IAFH AT AL 7

and

k-

(A) 1,2,4 (B) 2,3
{C) only/Fad2 (D) None of these/
T @ wrf A

The ruins at Hampi brought to light in
1800 by

(A) Colonel Colin Mackenzie
(B) Thomas Hickey

{C) Domingo Paes

(D) Nicolo de Conti

1 800 T weft o waraT 1 fems g s
= ETE T 7

(A) TS WA Hawa]
(B) um= fehi

(C) Bf=nua

(D) FrEEn a1

The All India Muslim League was
formed in

Hﬁzammgﬁanﬁﬂﬂrm

]

. dwidi)
(A) 1902 (B) 1906
(C) 1904 "(D) 1916

104C
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What is the correct sequence of the
following events ?

I.  Formation of an Interim Government
2. Arrival of the Cabinet Mission

3. Muslim League launches Direct

action

4. Jinnnh's wrecking of the Shimla
Conference

P maiw el wawn R 7

1. ¥afm g = T
2. &fae fam w1 e

. ufeem #m gro Wi Frarh
3, Fir=n g feren wres it a=ig FE
(A) 1,3,4,2 (B) 2,4,3,1
(C) 3,2,4,1 (D) 4,2.3,1

With which religion are the Dilwara
temples associated 7

(A) Jainism

(B) Hinduism & Jainism

{C) Hinduism

(D) Buddhism )

fremmm af frm i A gafim & 7

(B) firg wd v S et

(C) g u
(D) ¥z

Who among the following was the
Chairman of Dmafting Committee of
Constituent Assembly ?

{A) Dr. Rajendra Prasad
(B) I.L. Nehru

(C) Dr. B.R. Ambedkar

(D) 1.B. Kripalani

e 1 8 w9 iR qan ) v i s
o Y 7

(A) Bl 1= W

(B) J.TA. TwF

o(C) . H.3m, ardEw

(D} .41, Frer
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«(B) 3. |
3
3

Riﬂht to
Indian Constitution by

LAY W™ Amendment Act
(B) 40™ Amendmens Act
() 86™ Amendment Act
(D) 71" Amendment Act

it fastif o m |
“(A) 44 Weinga yfifigm
(B) 203 weius aiffiry
(C) 8648 Fvum wffam
(D) 718 "oivm wifufiam

Match the following :

= Lol &I’HTE‘Q s
President/ Teafay

o Dr. Zakir Hussain/ |, 1987-1992
. it |

b. E. Venkataraman/
. ST

c. Dr. A.PJ. Abdul
Kalam=!. o.di.3

Hegel FeATH
The correct answer js ¢
H’fﬁ?ﬂtr
Codes / %2 :

2002-2007

3. 1967-1969

a
(A) 1

(C) 2
(D) |

b = bk owon

POpeny was omitted  from

B wndla wfaum @ wwfy =

Tenure/Tdmia

10
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Given below are 1wo statements labe| |
ns Asseriion (A) and Reason (R), |y {1
context of the two stalements, which of

Py .
the following 15 correct |

Assertlon (A) : ]"l”din'u-'”“dfffuq
is independent of the Executive,

Reason (R) Judiciary favoury the
E_n".-':ml'l‘lt'm and heipi IR the
implementation of its plans,

(A) Doth (A) and (R) are true ang (R) jq
the correct explanation of (A),

(B) Both (A)and (R)are true, but {R) js
not the correct explanation of (A).

(C) (A)is true, but {R) is false.
(D) (A)is false, but (K)1s true,
st feu o @ AR D Al (4) s
7% (R) & =9 ¥ fafen fom mon € | o
gt & Al A, e A A s mamd ;
st (A) ¢ WM § =l
FETMEF =TI R
W (R) : ATITAHT TR 1 9w S 3
3 35 At & watam §
FEEAT HTA] R |
(A) (A)TE (R) §HT e & 3t (R), (A) )
Tt =TT
(B) (A) A (R) 21 v K, wrq (R), (A)
o6t W e T 4 |
#(C) fﬁ]m?,ﬁfﬂ}mtl
(D) f-ﬂ}mt_mrﬂm]mh

The Union Council of Ministers is
callectively responsible 10

(A) Lok Sabha  (B) Rajya Sabha
(€) President (D) Prime Minister

F71 5 wforg T v @ fwh w
TR we R 7

‘A TEEWN (@) T

(C) myfa (D) FamE
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vamaa i s

(0) S e 3wt = fergia i o i § |
M) Who was the first Chief Information d. fifa @M 4. wwr @ qeg i

Commissioner of the Rajasthan State 7 I FHifEn

(A) Shri N.K. Jain E!m | ®

(B) Shri Amarjeet Singh '-

(C) Shri M.D. Kaurani Codes / 2 :

(D) Shri Indrajeet Khanna

ST T 3 Wom e {1 S A 8 7 * b e 4

(A) M 39 Aars 4 2

(B) = ymsim foe |3 2 1 4

(C) »ft vy &1 =whooh eC)2 | 31 4

(D) =ft =it @ oyr 4 3
Iy 13 =

, The Chairperson and members of the
R:._'s.ﬂhlll'l State Humnn Rights
Commission are  appointed by (he
Govemor on the recommendation of g
High level committee. This committee is
headed by

(A} Chiel Minister

(B} Chairperson of State Legislature

() Chief Justice of Supreme Court

{0y Chiel Justice of High Cournt

AR T SEIE 3mE & srogs

st vl A B v g= min whif
) FEA WO 70 R I R
wiafa & aam e £

(A) et

(B) =1 faus woga % ey

(C) WaT= e F Y i

(D) T STATETA o EE ArAn

‘Ashokashtami’ is celebrated on

(A) Chaitra Krishna Ashtami

(B} DBaishakh Shukla Ashtami

(C) Shravan Krishna Ashtami

(D} Chaitra Shukla Ashtami
'yraeRTEt wATE AT §

(A) =3 T 37wy

(B) &My W= et w

(C) =Tam F=n sy =i

150, Policy formulation is

n joint effort in
which many organisations take part.
Match them :

a. Constitution |, Important role in

policy formulation

2. Chiefbody for policy
formulation

b. Parlinment

c. Council of 3.
Ministers

Indian Constitution
is the main source of
policies. I"r:urnl_:l:
and Directive
Principles arc  its
inspirational sources.

d. NITI Aayog 4. Main policies of the

government are
approved by the
Parliament.
ifa P vk s s B & e wga
i e fem &R & | 3 gafem =l
o WiEum ), Aifa Bwin § wEeEp
EilEa
b. HHE 2. Hfa fmfr & forg g
Frmg
c. HiANES




4. Poshan Gyan, o national digital repository

on health and nutrition was launched by
(A) NITI Aayog
(B) Ministry of Rural Development

(C) Ministry of Health & Family
Welfare

(D) Ministry of Home Affairs
T R, T UE v g e
WUER Iy fEn
(A) Hifa 3mam Y E;
(B) wwirn fors vamera 3 '
*(C) v va Sftam e WIrey 3
(D) 7 w=Tea 3
65. ; In Indian Constitotion Article 338A-
. Natonal Commission for Scheduled
Tribes was inserted hy
(A) 102 Amendment Act, 2018
(B) 104" Amendment Act, 2020
(C) 105" Amendment Act, 2021
(D) 89™ Amendment Act, 2003
WITATE WS 8 H=0 338-A - FAqfm
e % o udtg sEm amenfm
foan -
(A) 1024 s sifufias, 2018 g
1B) 1043 weimaT arfafgm, 2020 T
(C) 1054 wyinga wfafym, 2021 gm
(D) 899 wyiys wiafaam, 2003 g

]

Which actress won the National Film
Award for Best Actress for the year 20197
(A) Kangana Ranaut

(B) Alia Bhan

(C) Taapsee Pannu

(D} Bhumi Pednekar

fr= 4 A frm sfimd 3 2019 & foro om
sfar &1 ot e g e
(A) e B) anfemwig
(€ T, (D) 4 T

104C

67. Which of the following is/are Digital

India Initiatives/Services launched hy the
government under Digital India Flagship
Scheme ?

(A) Mobile based UMANG services
(B) Direct Benefit Transfer

(C) DigiLockers
g}; All of these ) -
3 & TR w/FR o fafies 3fem wnfin
w1 ¥ st Frn I fn A
fafaeam yfam yiimfea /mand 2 ¢
(A) sraTsa smurfea 3 #aml
(B) EWtaR Wi i
(C) E =t
e (D) 3H
68. As per RBI s Directions from October |,
banks will penalisc of T per ATM

for non-availability of cash for more than
ten hours in a month.

amfh wms & .| AREATH
wH 1 78 U2 § wiuw Fe ) sTerem
kfminimafanHm v =
TUITE /T |

(A) 25,000 (B) 10,000

(C) 15.000 (D) 5,000

69. The first country among the following to

receive the Indian COVID-19 vaccine is

(A) Brazil $E} South Africa
(C) Maldives D) Indonesia

= o 8 ¥9 = Sifrz-10 dw M
AT TN R 7

(A) WTHTE (B) Zftm 3nfiem

{(C) A=A (D) Eafemm

With the joint efforts of the railways of
which countries, regular operation of freight
trains have been resumed through the
restored | laldibari-Chilahati Rail Route 7
{A) India - Myanmar

(B) India — Pakistan

(C) India — Danpladesh

(D} India - Nepul

&7 2 & = % yw ol @ aww
Feanrdl — faemerd t@ wnt g e
(W2 gA) Fefm s d fma s find 2
(A) W —Wmn (B) WA - afeEm
\C) WA — ¥Tads (D) Wd — Jara

70.

11 (=]



Tl.

T

73,

74,

Wha is the Chmrman of DRDO ? 135,
LAY C. Vijavakumar

() Dr. G, Satheesh Reddy
(C) K. Sivan

(D) None of these
I, F wum L

(A) ). fmgmm (ny o, 9, whe
© *. M (D) i dwri

Buddhadeb Guha, who recently passed 6.
AWaY, wWas a noted

(A) Politician (B) Sporiperson
(C) Writer (D) Musician
!zi‘iqn.qasum__ﬂ.ﬁmm
g‘ritmmEam

(A) Tadifam (B) fa=rd

(C) da= (D) wfram

Mariyappan Thangavely and Sharad Kumar,
who won medals in the Tokyo Paralympics,
arc associated with which sparts ? 7.
(A) High Jump (A) Javelin Throw
(C) ﬁhm;sling (D)) None of these
s wae st me T, et i
Yofafimm § s A @, fam a3 @
A f 7

JA) Tt 5z (md 9m)

(B) WTeN & (dafam w) ﬁ
(C) Framemht

(D) 8 & Fig 78

in which district of Rajasthan, recently I

India’s First Emergency Landing fucility |78,
(airstrip) on Naticnal Highway was

inaugurated ?
(A) Bikaner (B) Udaipur
(C) Barmer (D) Jaipur

I

|
TF TARTT TN ) AR SR }:-'9.
wEn gfan (rad-wh g e I
A e & frm @ dgan ¢ I
(A) dETaT (B) =T |
(C) W (D) ¥R |

12

I |

M Madi recently chaired the BRICS
Summit 2021 virtually. The Summit wag
which edition of the annual programme

wure) ) 3 e A i ot 20
w1 witm =1 A (T o $ U
HIEA ATt ST w0 #  EE
(A) 12 (B} 13
(C) 15 (D) 11
In the following letter series, some of the

letters are missing which are given in that
order as one of the alternatives below jt.

Pt st it & g s e f, o

05 912 T v Fae A @ el o § 3
FHH 'FFITW'! [ 1,.1;._ L2

o hecomel ieiaie: | bBe
e fawen w1 w97 fa bhaay
(A) bbab (B) bbag Aee
{C) maba (D) abga

From the pairs of words, you have 1o
select the pair which is closely related in
the same way as the words of (e first pair.
SCISSORS : CLOTH . - . ;
(A) Pen; Paper (B) Fumace : Coal
{C) Rock : Stone (D} Razor: Hair

ﬁﬁ@ﬁ#gﬁﬁﬁmﬁmgﬂﬂ
TG H R A o g e o v
Fwe v & s

iﬁi:_i‘fﬂ'r:: : '
(A) ¥ FPTA *(B) uf . Fimen
(C) TR 740 (D) Fewr 9

Choose the group of letiers which is
different from others.

T} &5 30 TR 9 ) e g
TA) MQT (b) HLP
(C) IMQ (D) EIM

¥ T %13

Which Tetter will be |I."1E to the left of
T™ letter from the right end in English

alphubetical series 7
ﬁ%ﬁﬂaﬁmmﬁzﬁﬁgﬂ 74 3
%ﬂ_ﬁﬂl;a’fmmmﬂm 7

(A) D (B) E
) 1 MNP
]
_“E.- ) 104C
= 4 el jo———— Fi=

] 1 Fueurg W L
£ Falfulr = nL"i' l"-;?-l.lf"'q'.."f"'-‘ SRR

— ]
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ons (Questions BO to 81) : Read the
o paIsaEe and answer the questions that
'Iﬂ,hllﬂl on passage :
pilo Rabies is a disease transmitied 1o man
3 gnimals through the bite of a rabics-
-‘gcltd animal, most commonly by dogs. It is
:ﬂ-“d by @ virus present in the saliva of the
pected animal which gets deposited in the
Jound of the bite victim, multiplies and travels
gwards broin and spinal cord. I( not treated,
pout half of such cases develop rabies.
mptoms of the disease start one to
o months afler the bite, Very few laboratory
uts 4T available for the diagnosis of rabies
o India. Precautionary measures  include
grompt washing of the dog bite wound with
\ap and water. The wound is also treated with
- tin¢ture of iodine or spint.

g S L
gl (30-82) % FeT A :
W M R W ot wsfte aeEd,
AT F1 & FA § w3 @ A A
A R | ur Wi A ) A e
[ A 7 8 4 9 & e e
1 bt T wgE wfEre v et Ay
7w & | af yera S o T o s
s TR A5 1 el P W v & 1 8
FTHIE ¥ T A A T W s A # | am
v & | F % wrd @ g T H oA ol
1 & weere urn gl 39l A TR R
W W v dEEA (Cetvion) ¢ &7 3
M = fra () AR femam R
B. Robies can be transmitted from any
animal to the other through open cuts and
wounds.
I {(A) Probably rue (B) I‘rnb:lI:lI:.' falze
(C) Definitely true (D) Definitely false
iz et oft A 3 A &2 T S T
. TomElw A A A e
I 1A) e s b (B) wvam e )
() Rffaa wdii & | (D) FafFmmmea k|

- Iye

81. The bite of rabies-infected animal 1o 3
healthy unimal definitely results In
spread of rabies.

(A) Definitely false (B) Data inadequate
(C) Probably true (D) Definitely true
Ym fm A & O e A

YemEme |
(A) Aiffmmem | (B) 1 AT |
() s wét h 1 (D), P wh

The saliva of the house dogs s'.hu!ﬂd be
periodically tested for the detection of
rabies.

(A) Probably rue  (B) Definitely true
(C) Data inadequate (D) Definitely false
WA F veaa F forg gie §9 & A
T -HH TS AT TR |

(A) wm: @@ d | (B) RF T
C) T NTEHE 1 (D) Rffar =a R

Bl

Simran told Rahul, =That girl is the
youngest daughter of the brother-in-law
of my friend's mother™, How is that girl
related 1o Simran's friend ? ﬁ

(A) Niece (B) Aunt

(C) Cousin (D) Nephew

ferma 3 Tger =it =, ey et it fir oy
1 % o ) wed v ¥ ka9 o
fermeey it g At oo wERftm 2 7
(A) Wl vl (o i

(C) =i () W/ wT=n

81.

If '‘BUS" is coded as ‘DWLU" how will
you code *ROBS" ?

afs ‘BUS' ®1 *DWU" gfen fmm ma &,
W ROBS' 1§52 ¥ w9441 7
(A) SPDO (B) SPCD
(C) TQCU (D) TQDLU

P e S

o

D
k|

l
|
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I
I
|
I
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87.

Mahesh walked 20 metres towards wesl,
wamed lefl and walked 20 metres, then he
wmed right and walked 20 metres and
again turned right and walked 20 melres,
Now, how far is Mahesh from his starting
point 7
R SR ) 3 20 er wmn, wid e
20 7 wen, i o g wew 20
= 3 ZEm Tl g 20 W |
N 3 Y fig @ Fhauk
A S0mAfE (B 60 mai
(C) 50 mafizn (D) 90 mafter

H, L3 K L Mand N are sitting in a
circle facing at the centre, L j5 neighbour
of Hand K, N is nol between M and J. M
1% 1o the immediate right of H. | is second
o the lefi ol N.

Which of the following pairg has the

second person sitting immediately to the
left of the first persan 7

HILLK LM N 7 ) ¥ e
LeE o Ech N UMK s ogsfi d L, M

an‘nji:my#ftlu,ﬂﬁamzﬁ
biNsTigm:,
ﬁqgﬁiﬁﬁaﬁmmﬁm!wﬁm’ﬁm
& AT Ay g

(A) LI (B) KL

AC) M1 (D) HL E

In a row of girls, Pinky is 11* from the
left and Dinky is 13" from right end.
Seema, who is 2™ 1o the right of Pinky
and 4" 1o the left of Dinky. How many
girls are there in the row 7

W#Eﬁﬁﬁﬁﬂ‘,ﬁﬁﬂﬁﬁ]lﬁt

#ﬂﬁﬁﬁﬂhﬂlaﬂtlm.ﬁﬂ
%ﬁﬁ{ﬂfmﬂ‘tﬁf]iﬂﬁﬂﬁhﬂ!i
ufes 3§ 4 fomdt wrpferat €
(A) 30 (B) 27
) 29 (D) 28
th
Y[ {7 B—
[ L
17
AN

--"1'3

HH.

89,

.

91.

14

——ﬁ

Which one of the given FESPORSES Wy
a meaninglul order of the follow IR Word, 5

. Weod 1. Book
J. Factory 4. Paper
5. Prim
P 7zl w1 bl o oo o i 5
T | U 7
T, T 2, aAEY
3, &=h 4, WA
5. pmen '
f(A) 13,452  (B) 2.5 1.4 3
(C) 1,425 (D) 4.2 3. 5.1

Which letter will replace the gucstion
mark (7) in the following design ?

Freferfan foar i oo fug kakack:
T wfreenfs v 2

AL
)

G
|

*(A) O (B) p
€y Q (D} R

supply the right letters for the Question
Mark (7) -

Mﬁ‘[,’]%mm YT T F

XA, 2, DI, GO, 1Y ™
(AIVE+i o mywe xp B

(C) AE D) CE 7,5 Ldwy
From the

pairs of words, you are to select
the poir which is closely related in the
same way as the words of the firs| pair.
NITROGEN : GASEQUS - - $
(A} Lead : Pengil
(B} Feather ; Wing
(C) Mercury ; Liguid
(m Ni“"]::"[" | Oxygen
T T & i # R s 3w A+
A R A WA g & e )
iz w9 & G §
ﬂfm e P
(A) H’; -4fa
(B) T3 &
"(C) WA : A (79)
(D) 15 . wtw

14C

L~
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it

-

[} m:,_::: odd one out from the given |97. In a school, there were five leachers. A
. ' and B were leaching Sanskrit and Maths.
mﬂlﬁﬁﬂﬂﬁﬁ“ﬁ?ﬁi X and B were teaching Maths Iaﬂf-?
(A) B B (B) 12,4 .1& History. Y and A were teaching Hindi
(€) j I'L AD) 10,7 ' and Sanskrit, Z and B were teaching
. which letter will be 4% (o the right of Geography and Spanish. _
g* letter from the right end in English Which of the following pair was teaching
alphabetical series ? both Maths and History ? _
o afren Aoft A o v A od s %@ﬂq‘hﬁmwmﬂrmmﬂw
7 3N = e I ER WA 7 i T & 1 X i B
(A) D v, 9-4 A - firrm g @ 1 Y 3 A e ww I
@G T DX ot R zatp e am AR Tm |
Introducing Sunita, Nikita said, “She is the frer & @ w3 w0 g e i i €
mly daughter of my father's only A o 7 A0
daughter”, How is Nikita related to Sunita ? - g L~
. (A) B, X (B) A, B
(A) Aunl {B) Cousin Oy Z.Y D) B. Y Fad

o (C) Niece (D) None of these © Z (D) B, 7

; 5 gt 1 T F T, fafwmn 3 =, 98, If ‘rain' is ‘waler’, *water’ is ‘road’,
< R Ryl %8 i vwelte) 3 'road’ is *cloud’, *cloud” is 'sky’, 'sky’ is
t* | fafem, g A frR ven eefim 2 7 ‘sen’ and ‘sea’ is ‘path', where do
(A) 77t (B) whr Aeroplanes fly ?

T (A) Water (B) Cloud
(C) 54 «(D) ¥ A w1 TE (C) Path (D) Road
8, If ROME is wrinen as MORE, then ot e & ary, e @ e, ayE e
'\ DARE will written as W, W & I, HE R

e af? *ROME" ! feret a1 & *MORE', st a & wr, A e s d 1

WE *DARE" w1 feran smom - (A) arht (B) =TEs
(A) REED (B) ROAD “(C

U,éél (C) RAED (D) RADE (cy i (D) &

'%. Anil walked 10 km towards North. From 199,  Which one of the given responses would
there he tumed back and walked 6 km be 2 meaningful order of the following
towards South. Then he walked 3 km words ?
towards East. How far was he from the | 1. Seed 2. Plam
starting point 7, 3. Flower 4. Fruit
(A) It’-;m. Eg‘; gtm %‘i‘:rTr“

(C) 17 km. m. = & wU e
v s 4 S 10 R, wen A | fem, e et & 3
i e 3 e A 3 6 R, | -
i ) 1. ¥R 2. dhn
: &) 3w 3 fEaA | ' ) ' °
Wlmmﬂﬁ 1, EW{”‘! 4, TAD
W|ﬂﬂﬁﬂ1ﬁﬁiﬁﬁﬁ;§ﬂm? !‘ 5 )

B ) 16fesh. B sﬁq.‘ﬂ. LA @) 23,418

E (€) 17 &, (D) 9 1.4 (€) 1,5.4,2,3 «(D) 1,2,5,3,4

e L 1S * v vy o

. :E‘Q‘-{ EERE . ; e

) L A

\

Rl
L3
T
?,f;ﬂ

B
-Ir



n &Y _- ' 1
7.4 .F"Fr""ll’ ‘!F' J | ::ﬁ
1)
100, Select an appropriate number to replace (08, 30% of A's salary is equal to 2004 1T
the question mark (79 : ssalaryis 72
n1'"[nr&ll IFN s sa ary is r"l"l'fm',
w7 fos () W) sfveenfiy s & frg ww :‘;ﬂl s A's salary 7 they
Wﬁ‘ﬁﬁwﬂg-’l « 3
AFRER R 1% A ®130% A, BEATE Y g5
[ L % - -
171 2| &% r:a"" m&!'ﬂﬁﬂmmrl‘“ﬂ.?ﬁﬁm
Y 12/ 1|23 ]
W (3 Ama k7 4
(A) 14 (B) 16 W IYRTIR . -
g ©n (D) 18 gegtf | (A TL0I0 glL (B) X960 7
A" g *(C) T 2,060 ;;;%;[D |, Nome of they, /1
g0y, 2-ldx3e2 oy e H.J;r}.,._-ﬂﬁﬂﬁm
Y Y T o 3 ot 7 oy
[ (A} 1.45 (B) 26.35 ue 20 oy X i pe
Vs, (C) 265 (D) 2.65 106, Asmita invests an amount of ¥ 0,534
LR 4% pa. to obtain a total amoyp af
10X Find the average of all the prime numbers ¥ 11,442 on simple interest afler a cenyjy
'“, between 60 and 90, period. For how many years did she jmyeq |
v 60 3 90 % war a) anyrre Henal W the amount (o obtain the total sum 2
a7 et Hiew 3 ¥ 9,534 W T W 4 o
9 MA) 14T (B) 74.00 wftred # FOT W= R F e
n ©wn (D) 72.55 A SRR EA U2 Aot
w6 & fog fan e, s ofngm ey |

103, A bag contains three types of coins — !
i 0= /| rupee coins, 50 p coins and 25 p cains #ﬁ!ﬂﬁﬁhﬁ!ﬂiﬁfﬁqﬁﬂﬂﬁmﬂm

2 !
23-"\ “totally 175 coins. I the total value of the _ : WL
-d;';; coins of cach kind be the same, the total (A) 3 ymﬁ‘f (B) 6 years™ _Ii.q1 .
-7 amount in the bag is (C) 8yearsml (D) Syearss 2631,
mhnif s ot W, —ya23

o504, s 25 dadgm 175 RS TR [107. A sum of 2 12,000 deposiied i

g . d interest becomes double after
ek - - compound interes mes :
ISR fesl %1 76 Wﬁ J years. After 20 years it will become

L] Y wmandgmatnd- T ST T AR T ¢ ) 2,000 %177

; (A) €39 (B) T 26 :
r (C) 275 (D) Naneof these / 3 491 e 80 e 'J“H“If“fﬁw
15 ef o w i & w5 e i
al (A) T140,000 TB) 7196000, .- 1
104. The radii of two cones are in the ratio | (C) ¥1,92,000 (D} T 144,007 ;o=
4¢ 2:1and their volumes are equal. Find the e
ratio of their heights. 108, Ifcost of 24 oranpes is T 72 find oul i
: . ges is ¥ 72, then .
A v ﬂﬂfaﬂﬁﬁmﬁﬂwli | @@ the cost of 120 oranges. .',l:',
1817y 3k s wm § ) T St WRUFm w28, A 120FAFT
Ty AT TR | by | TR ek
: {A) 4] -:;ﬂ. (@) 2:1 i (A) ¥ 100 *(R) r;ﬁnﬂ_‘,-‘”}‘
=g (C)1:8 sy 114 o (C) 182 (D) L8 C
- u \ !"“ % "igﬂ'- g |
o 'E;‘_,I:"'.-"j:ﬂ L f ll;rng '-’EJ:'.F-- 11_‘,’.5.1-3 N {quu !1'_ (4G - !
¢ LD Sl i L - T !
Uy 1 CER \ e B 7% Ry I T sl
e ——— " h e - —r o
= f 1:1“ utk’ -?‘i&:r‘VZ“ 2T l!na "1““‘

LA™
iy ;r P




g, A dishonest shopkeeper professes 1o gell
potatoes at the cost price, but he weighs
950 g. inslead of 1 kg, Wha i3 the
percentage of profit 7
7% HEE TEREN
=1 =1 R
o |E 950
k7

(A) 5.44%
“C) 5.26%

mlﬁmmm

wm ke | R,
mem R | Em

(®) 666% 277
(D) 6.06% '° ..
10. By selling an article, Mahesh :mﬁ

profit equal to one-fourth of the price he

bought it. IThe sold it for ¥ 375, what was
the cost price 7

o T W, Ton 3w g
i 5 o o sfdn fe | ofe Tl

114. How much is 20% of 1/7 ol 1540 7
1540 % 177 %1 20% frem & 7

*(A) 44 (B) B8

[EL_E (D) None of these /
TR R T
9 pro

-~y
e -t
i qe
115. If | man or 2 women or 3 boys can do
¢.L piece of work in 44 days, then the same

go Ppiece of work will be done by 1 man, |
woman and 1 boy In

Tty | e @ 2 el M 3 T TF F
¥ firel ) a4 T S o went , ot o wrd
¥ fe w1 | 3, 1 ofeen 3t | @

\ Ty - i
TA U375 ° W= A, T g v ) Clgp] B ™
(A) T312.56 (B) T 360.43 @e{ﬁ) 20 days/fEA & g Lx? —luY (U
+(C) 7300.00 (D) T 281.85 ‘I';"'l (0 24 daysfra® Lsaxd 2l
12 r .
il 320+ 26+ 13 x 0= 7 S U0y 28 davsTea & v e
(A) 240 (B) 530 ﬁqm q{ ) ¥ - w.'!'_l‘!u 1___1_12__
(C) 390 »(D) 510 q:i_’w{n] 34 day:.‘ﬁ?ﬁ ?]' 1L i_r""l
I12. The perimeter of a rectangular field is *'Jé s : e
4# 430 m and the ratio between the length |116, 1fthe value of 21a = 21b = 1134, what is
and the breadth is § A Thﬁ Arci 18 the average ofapnd B "
(U, I STTATETC &Y 1 A 480 m § 3 o2 2la + 216 W 1134 R, A a 3N b
0 AR s fEwm agm st P .
el er g B ) i
'+ (A) 13501sqm. (B) 15501 sq.m. (A) 20 ®) 2772 (9]
(C) 13500 sq.m. (D) Noneofthese / (C) 36 (D) None of these /
e e @ SEARIT | gyt vrb g wEAWIT
113, One litre of water is evaporated from f{r I B
litres of a solution containing 4% o© 117, The dimensions :
y ; of a cuboid are 7 em,
WLgAr, :I‘h: FELF::[;'E: of sugar in the | 11 em and 13 cm. The total surface area is
remaining so
4y, <t T T 6 T O A W T i ‘Efm‘fﬁwi'!cm 11 em 3
mmﬁaﬁﬂm|ﬂ§qu‘mﬂa‘rﬁﬁ .I 1¥em | 0 qda Swa & -
werarer & i8¢ | (A)Moem®  (B) 622 em?
(A) 3.8% ((B) 48R A C) 100 cm? 200 cen?
(C) 5.8% (D) 1.8% .-'Ff_wz.l © ). 4 em
3 E';Fu - Fero N
e 6F ), o
P IRl ¥ el
2 LI 15 'y, W
29, “ . | jg3d )
L




Directlons (Questions 118 to 120) : Read the
following information earcfully to answer the
EIVen questions ;
A word and number arrangement machine
When given an input line of words and
numbers, rearranges  them following @
particular rule in each step. The following is an
ilustration of input and rearmangement.
Imput :goal 63 57 home five mmsk 82 17
Stepl : 82 goal 63 57 home five wsk |7
Step Il : 82 fivegoal 61 $7 home task |7
Steplil: 82 five 63 goal 37 home ask 17
SteplV: 82 five 63 goal 57 home 17 1ask
And Step IV is the Jast output,
As per the rules followed in the above steps,
find out in each of the following questions the
nate step for the given input.

e ;

u:mu:ﬂum:ﬁﬁfrﬁnﬂmmﬁ.
igﬁnﬁuﬁaﬂmwmmnﬁa;ﬁ: L
TF 7= T "o fammm mig =
e € i
§ v fafme frgn =y
bakl AR
Frofafam b .
Baw  :opoal 63 57 home five sk B2 17
W™l : 82 goal 63 57 home five sk |7
WM : B2 five goal 683 57 hometask 17
SO : 82 Tive 63 goal S7 hometask |7
T AV : B2 five 63 goal 57 home 17 task

o AR 7 e
& Al R = aw v =
HIHE 1 34 . wpafign
N g ==y T TF TR

9. Step Il of an inpul 1 :
o fadm o =on ) 4

67 cat 12 25 dog fight man 47
Which of the following will be Step v 2
Fr=r d A o | v o

(A) 67 cat 42 dog 25 Might 12 man
(B} 67 cat 42 dog 25 12 fight man
(C) 67 car 42 dog 12 25 fight man
AD) None of these/F9H & wif a7

120. Step 1N of an input is
Bl boar 73 wheel spike dancer 32 99,
How many more steps are required 1o

complete the rearrangement 7

(A) Three (B) Four
{C) Five (D} None of the
whmEmammt- )
Bl boat 73 wheel spike dancer 32 S0
=R w5 O w3 fog f o
T ) wErEEa 7 ;
“(A) #= (R) =@

- (© (D) i A 57 71

121. “Chhappan Ka Maidan’ Is situated at

(A) Between Banswarn — Dungarpur
(B) Between Pratapgarh — Danswara
(C) Between Banswarg - Kushalgarh

(D) Between Chittorgarh — Pratapgarh
T AR’ fam g

3N T 1V i T | “(A) ‘fhﬂm—min;a

IT =l & Siatn Pt & sren fre v (B) sz - wheanst & ot e

i fg2 v i & fory g T w6 () ﬂm@pmﬁﬁ

AT (D) R -TaR & i
118. Input : host 15 32 page 43 over i .
other 92 : : i : )
E"’hi:h of the following steps will be the 112 ll: t::::::t?dlsmn of Rajasthan Saharia
last but one ? A B |
R host 15 32 page 43 over mother ';:J EL‘l] u::‘;‘i :gﬁ; :?ﬂmr
ﬁmﬁhﬁﬁﬂm&mmmﬁn? | mﬁmmmnﬁ:ﬁmhﬁﬂﬁam
(A) IV (B) V] f | Tl R 7
(C) v (D) None of these (A) and -
AR | (C) g (D) Ty
Li 18 - *

14C
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134

when was Hanumangarh district formed
from Gunganagar ?

AT # T R W e wa v
ul ?

(A) 01.08.94 (B) 18.04.94

(C) 1B.04.95 (D) 12.07.94

which of the following Kachhwaha ruler

made Amer his Capital afler defeating
Meenas ?

(A) Dulherai (B) Jaisingh
(C) Kokildev (D) Man Singh
fre 5 © W9 § woaTE mEs X i e
FOET ST 3T O w7
(A) FFET (R) waftiz
(C) wifeeied (D) TRfHE
135, Bench of ‘Rajasthan High Court’ is
situated at which of the following place ?
{A) Bikaner (B) Ajmer
(C) Jaipur () Jodhpur
T I A H 9 (") fad
awwl feamt 7
(A) W (B) i
(C) =T - (D) Shg ﬁ
116. Maich the following : -
Eﬁﬁ"l?l Eﬁﬁl‘l‘ﬂ, .
Books / T60% Writer / g
a. Hommirayan/ -1, Badar / WTEL
b. Virmayan/ - 2. Manchharam
Eluie Sevag /
pinnekicy
c. Raghunath = 3. Bhandau Vyas /
- Rupak / WTES &
TATd Fa
Codes / §2 :
an b ¢
(Ay3 2 1
B)y2 1 3
C)3 1 2
m1 2 3
e

g

19

127,

128,

129,

The Battalion which revolled In

Maseerabad in 1857 was

(A) Bombaylancers

(B) 0™ Bengal Native Infantry

(C) Merwara Dattalion

{D) 15™ Bengal Native Infantry

1857 & Tefrorarrz e we e wzifera
eft

(A) wTcered
(B) 3041 smma Afem w=woedl
(C) Hrag wferma

(D) 1597 s Afem el

In Rajasthan, which of the following
dance is performed by only men ?

(A) Ghumar
(B) Kachchhi Ghodi

(C) Terah Tali

(D). Katthak B

v |, fre 3 & 9 W e e e
zraferm At 7

(A) -(B) wet Ot
(C) @m ATl (D) FrT=

Which of the following pairs is incorrect 7
(A) Arthuna Temple — Barmer

(B) Harshat Mata Temple = Abhanerd,
Drausa

(C} Vibhishan Temple - Kethun, Kota
(D) Harshnath Temple — Sikar

T W gE ek 7

(A) 3nefom sfeT — argin

(B) ¥ r Gl — ammhy, 2

(C) T Ay — &3, vy

(D) Tt wif - i
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130, Organize the followin 133, Maich the following :
owing rulers of Chauhan
Eh'“-'l;nlll'h“ per the chronological order | Freafiftea = ﬁaﬁ’l'ﬂ i ;
T m;u:-;?! m 1.- #l;r"mi. W Tourlst Clreult/ Area/
He T & Aol e W | v i
W AT wrafam i . a. Brij Mewat -1, Alwar-Bhy,
1. e s arEgUE Circuit / ®#3H Sawaj Mldhu.pw
3. T 4. fmmma v T wfde HE-tomy:.. -
Code fﬁz i i ilEt
(A} 1,3,2.4 (B) 1,4,2.3 b. Shekhawati = 2. Ajmer-Pughy,,
“(C) 2.3, 4,1 (D) 2,3, 1.4 Circuit / Menrta- Nagayr
131. Match the following naardl b m'ﬁ““{
List-1 List-11 - it
a. Kumbhalgarh Wild Life 1. Saniska
Sanctuary ¢. Desert — 3, Churu-Sikar.
b, E:nladm National Park 2. Jaisalmer Circuit / Jhunjhuny
€. Desert National Park 3. Bharatpur ok .
d. Tiger Reserve 4. héjﬁm:lma i IE-Hm- ﬂﬁ
Freifen w1 gifem S - d. Merwada - 4. Jodhpur-Jaiame,,
'T‘.l—f '@-H Circuit / Bikaner-Barmes/
" F‘ana-ﬂ:inamm 1. B ey Wik TR~ -
b, iﬁﬁﬁﬂﬂé’fﬂm {2 T | -
. WE T T ‘\\\3 u-mgt Codes /2 :
d. erem frad + a b c d
Codes /g2 (AY3 2 1 4
a b g d (By4 2 3 |
YA)4 D Q] Ei oC)1 3 4 2
(p1- 4 2 3 - M2 1 4 3
(C) 1 2 3 4
(D) 3 1 d 4

134. With reference to ancient sae of

[132. The Chairman of the Rajasthan Public "
) y Rajasthan what was *Kansa Parosa’ ?

Service Commission can be suspended

by the : (A) A type of Irrigation
(A) g’f-‘?{':';‘_ﬂ‘? ﬂfﬂ;ﬁ?ﬂﬂ mﬂihcmﬂ | (B) None of these
el vimnistler o as
% Gul-*rrnur -:'-I'Rajnsth:{n [E} Atype of Tax
(D) None of these (D) A type of Land _ .
TwvEE S dE WM % e W TR Ry fam & wof 4 €5
zm Pefea fFm i asm R | it =1 m 7
o (A) T T AT 5 o1 ramdt (A) feramd ) um form
(B) T=ET & JEAH! (B) ¥ & wré 7l
(C) TR & T (C) U TR H) 707 (W)
(D) wH & = T (D) 4 w1 o ww
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138,

g

Where is the cave of 'Saint Peepa’ 7

(A) Peepar (B) Toda

(C) Dhanera (D) Gagron
w1 R E W R 7

(A) g (B) 2w

(C) T (D) TR

Which of the following Articles of Indian

Constitution is related with Executive
Power of Governor ?

(A) Ariicle 142 (B) Article 154

(C) Article 171 (DY Article 158
weE " W efim d a em
I8 T=aaTel #1 wives v &
WA R 7

(A) 3BT 142
(C) ¥T=0% 171

B) =3z 154
(D) ¥F=BT 158

. In 1947, Shekhowati Farmers Movement

ended on who's efforts 7
(A) Jamnalal Bajaj

(B) Jamarayan Vyas ﬁ
(C) Manikyalal Verma

(D) Hiralal Shastri

TaE) fram neeR w1 1947 8 e
WATH] W HAW §I 7

(A) FereTe ¥ (B) FATOL B
(C) wiftrerems == (D) Woems e

In which year Rajasthan School of An
was established by Sawai Ram Singh-117

(A) 1882 AD. (B) 1860 A.D.

(C) 1857 A.D. (D) None of these
warl tafie-11 g0 few =l o e
fargmem € s AL T 7

(A) 1882 | (B) 1860
(C) 1857 (D) ¥ A wrf T

21

139.

140.

141.

Match Lisi=l (Heritage) with List-1l
(Place) and choose the correct answer
from the codes given below the lists

List-1 List-11

o. Gajner Palace 1. Rarmer
b. Kiradu Temple 2. Udaipur
¢. Jag Tample 3. Bikaner
wt-1 (Frrem) = -1 (F0m) & W
forer Wt ot vt % 1 R e T A
Hﬂmaﬂ !
-1 -1
a, T WEF |, \TEN
b, fartrg wifer 2, Fgaq
¢. s afex 3. dEAT
Codes / 52 :
a b c
Az 13
(B) 3 1 2
)3 12 ]
1 2 3

Who founded *Alakhia Sect" 7

{A) Sant Dasji (B) Charan Das
(C) Swami Lal Giri (D) Bholanath
‘et w6 T e ) 7
(A) HA TrEH (B) =10 ZTH

(C) Tt ems frll (D) Wiy

Jogi caste of Alwar district play which of
the fellowing instrument ?

(A) Rabaj (B) Bhapang

(C) Sarangi (D) Jantar

yrm s sam o i a
s siemE

(A) T * (B) WM

(C) = (D) 3=m




141,

141,

144,

The Goy mor of Rajasthan, who died
during their tenure

. S.K.Singh

2. Mrs. Prabha Rau

3. Nirmmal Chand lain

4. D-:lrl%:nrn Singh

AR & 3 tRwe fime wrdsm &
TR s pan

. W& 2 swfwnos
3. Fased: o zram fiie
CMHFE:

(A) Only®Fam2  (B) 2,4

(C) 1,2,3,4 (D) Onlyras |

The *Boo’ village of Nagaur fi

Ec-r]whi:h An \gurk ? PR

A) Jute patti

(B) Mud 1oys w

(C) Thick cotton shaw] =

(D) Hand made paper

iR gl o e Wl § B

waz k7

(A) Sgwdt

(B) ==h frdr & feelid

(C) urét Hqh vt

(D) e fafda o

Consider the following statements ; :

1. The Lokayukta institution in Rajasthan
was established in the vear 1973

2. Justice |D. Dua was the first
Lokayukts of Rajasthan Stale.

Which of the above statement's is/are

correct ?

(A) Only 2 is correct.
(B) 1 & 2 are both true.
(C) 1 & 2 are both wrong,
(D) Only 1 is correct,

FeRea o7 fam wt

1. THRTA § SR e W |y 1973
W w=aa fiem mn |

2. =rnfd 3. 3 e T
Hp L g |

I A A TR A/ AT at by

(A) FEE2EfiR

(B) 1@ 2THWEE |

(C) 17@ 2 g e & |

(D) F37 | TR |

bl
[ ]

145, Which of the following pairs is Cofrect 7

Instltution Ellnhluhmtm

(A) Rajasthan Sahityn - 1969
Academy
(3) Rajasthan Songeet — |957
Natak Academy
(C) Rajusthan Brij - 1982
Bhasha Acndemy
(D) Rajasthan Hindi - 1980
Granth Academy
fradderwqudd 7
'ﬁ'ﬂlﬁ m'.
(A) TTEM 61 SHedft - [ogo

(B) TR @il 12 JEE -~ 1957
(C) UFFH WS T HHEH - 1982
(D) v=waA o sl - 1980

146, Which of the following options is the
correct chronological order of the tenure
of Chief Ministers of Rajasthan ?

(A) Shiv Charan Mathur - Jagannath
Paharia — Bhairon Singh Shekhawat
- Haridev Joshi

(B) Jagannath Paharia — Bharion Singh
Shekhawat — Shiv Charan Mathur -
Haridev Josha

(C) Shiv Charan Mathur - Haridev Joshi
— Jagannath Paharia — Bhairon
Singh Shekhawat

(D) Haridev Joshi — Bhairon Singh
Shekhawat - Jagannath Paharia -
Shiv Charan Mathur

Frefafem § & =1 w1 fawey Tee &

WA & i w1 wrergan v

wAR 7

(A) fror g — s wefE -
iifen Sramem — efig S

(B) sy gmfee — &ife femEd -
vy gy — wits it

(C) Fora=on mmpy - witd wnft - ¥
TEfgar - Wifey Sramaa

(D) ®fea Fieft — Wiffire Igran - I
ETEaT — fireror T
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